Algebra 1 SOL Released Questions:

Functions

(Evaluate, Zeros, Intercepts, . . .)

Directions: Click on the box to choose each function you want to select. You must select all correct functions.

Identify each function that has an x-intercept of 3.

kx) =3¢ - 115 +6
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Lredlm: Click on the box to choose each function you want to select. You must select all correct functions.

Identify each function that has exactly one zero.

8(x)=9x-8)

j(x)=2?-8x+16

k(x) = ~2x +4)(x+1)

PIG 2009

Read each question and choose the best answer. For this test you may assume that the value
of the denominator is not zero.

SAMPLE
If f(x)=x?+2x+3, what is the value of f(x) whenx =62

A 27
B 42
C 51
D 60

2010

The function f(x) = 35+15x represents the amount of money, in dollars,
Mr. Lewis earns for working x hours. How much money does Mr. Lewis earn
for working 25 hours?

A $75
B $375
C $410
D $1,250

2010

Which of the following sets of ordered pairs is a function?

A {34,236 2,41}

B {25,(19,63).(1 -2}

c {w3 254562}
{

(5,6),(-2,3),(10,1), (-2, -9)}
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Which graph best represents the function g(x) =(x—2)(x +4) ?

What is g(2) for g(x) = %x3 +2x? \

F 5 e
G 7 !
H 8
J 12

===

2010

Which graph apparently represents a function of x ?

Which number is a zero of the function f? X 7
x)=x2—x—6 P
f(x) L N
F 0 BN :
G 2
H 3
Yy Yy
J 6
B — x P - x
i \ :
11, \

2009

2000

The function /(x) =1,200 —50x gives the distance left to travel after driving
r hours. What is /(9), the distance left to travel after driving 9 hours?

A 450 miles

Af ion of x ists of five ordered pairs of the form (x, y). Four of the B 691 miles
ordered pairs are shown below. .

C 750 miles

(1,9), (3,19), (5,29), (7,39) D 850 miles

Which could be the 5th ordered pair of the function?

A (98)
B (1,49)
Cc (519)
D (3,9

2000

2000




Which is a zero of the function defined by the following equation?
fx)=x(x+2)

“Teoem
|
-

2009
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The following equation defines a function of x.
f(x)="2x+3

If (6, n) is an element of the function, what is the value of n ?

A 9
B 6
Cc 4
D 0

200

If f(2) =13, which could be the equation for f(x) ?

A f(x)=x*+8
B f(x)=x+x?
C f(x)=2x3+45

D f(x)=3x>+1

Which is a zero of the function defined by the following equation?

f(x)=2x-6

o0 w >
|
w

2008

The ordered pairs in the sets shown below are of the form (x, y). In which set
of ordered pairs is y a function of x ?

F {34, 1,9 @4}
G {(05) (0,4), (0,5}
H {@1), 21 373)}

3 {1, @), 10}

2008

If f(x)=3x?+2x—1, whatis f(0)?
A 1

—

B
C
D

2008
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'Which graph does not represent a function of x ? R L . N
Y ¥ E:I:I: ?:t:ﬂ:ins four ;o'i;::'slﬁat cannot lie on u-l:fg::pg:){)alfunction of xv'.!hldl
F
. iy . [y [-1T-2[=3[~]
g ¢ ETEETe]
[y [4T2[2[4]
woxl2[3[4]
y y [y [ 2] 4]6[8]
% ; [=]ol1[s5[6]
G Z e 3 * [y [s[o[2[1]
The ordered pairs in the sets shown below are of the form (x, y). In which set
of ordered pairs is y not a function of x? If f(x) =8x+ 6’ What is f( —1) ?
A o)) fod)
RIEELE) F 14
¢ [(11, 2) (12.4) (3 6)} G 2
o {6.3)(510}(52] H 2
J 14

Which of the following could not be the graph of a function of x? If f

—

x) =5x-2,what is f (3)?

c F 0

’ G 8
H 13
3 15




Which is a zero of the function defined by the following equation?

f(x): 5x-20

OO w >
3, NIy )

If f(x) = T(x — 2) + 4(x + 1),
what is f(2)?

A9
B 10
c 11
D 12
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The ordered pairs in the sets shown
below are of the form (x, y). In which
set of ordered pairs is y a function
of x?

F {(76, 12),(1, 8), (1, 13)}
G {(0, 2), (0, 4), (4, 0)}
H {(7,-1),(7, -2), (7, -3)}
J (1, 3),(2, 4), 3, 5}

Input Output
X — f(x)=xz_5 :)—Pf(x)

1
When the input is 3 what is the
output?
-29
F =
6
44
9

G
-14
3

46
9

J

The ordered pairs in the sets shown
below are of the form (x, y). In which
set is ¥ a function of x?

{(1, 3), (2, 6), (3, 1), (6, 3)}
{(1, 3), (3, 1), 3, 4), (4, 3)}
{1, -2), (1, 0), (1, 5), (1, T}
{0, 3), (1, 4), (2, 4), (2, 8)}

»>

o

Which of these pairs of the form (x, y)
could not lie on the graph of a function
of x?

F (1,1)and (3, 1)
G (1,1)and (2, 1)
H (1,1)and (1, 2)
(1, 1) and (2, 2)

[




Which of the following represents the
graph of a function of x?

Y Y
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Which is a zero of the function

flx) = 2¢ — 10?

oW »
o

A c /
/ N ’
If flx) = ﬂ, what is f(2)?
3—-x
F 2
G -1
H 1
J 2

The point (g, 0) lies on the graph of the
following function.

flx) = -2:: -6
What is the value of g?
A -8
B 6
c 6
D 8

If f(x) = -2¢” + x — 5, what is f(8)?
F -20

~14

16

34

S Emoe

Which is a zero of the function

flx) =2 — 8x + 7?7

o acw e
-3




The graph of the function
f(x) = ~3x + 3 is shown.

¥
\-
6
BAY
AR R x
\
s \
’ A
What is the value of f(3)?
F 3
G 0
H 2
J 6
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Which of these data sets represents a
function?

\V4
/N

Which of these data sets represents a
function?

|

Loki said the following graph does not
represent a function of x.

y

Which pair of points could Loki use to
prove that her statement is correct?

A (3,4)and (-3,74)

B (4,3)and (4, 3)

C (73, 4)and (4,73)

D (75, 0) and (5, 0)

2008

The numbers in this table follow a
linear pattern.

P w
-3 14
-2 11
-1 ?
(6] 5
1 2
2 -1

What is the missing value?

A 7
B 8
c 9
D 10

2008

If ftx) = “2¢ + 3, what is f(-4)?
F 5
G 1
H 55
J 1

2008




Which of the following does not

represent a function of x?

X

1

1

1

1

y

1

2

3

4
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Which set of ordered pairs is not a
function?

F {("2,3),(4, 1),(2, 1),(1, 5)}
G {(1,4),(2,3),(3,2), 4, 3)}
H {(2,3),(3,2),(4,4),(5,2)
J {("2,3),(1, 4), (2, 3),(1, 5)}

Which is a zero of the function
flx) = 3x = 21?

-21
-7

0
7

U ow >

Which of the following tables does not
represent a function?

x Sfx)
2 7
3 10
5 16
8 25
x flx)
1 2
7 2
"4 2
-5 2
x ftx)
36 6
36 "6
25 5
25 5
x Sfix)
[ 36
2 38
9 45
20 56 2001

Which of the following represents the

graph of a function?
¥ ¥
7 B
7
3 3|
2 /|
F . v N v 7
(EE IEVJEEE
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——— g
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3]
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E E
= =

Which of the following sets of ordered
pairs is a function?

A

o oW

((2, 1), (2, 2), (8, 4), (5, 6))
(-2, -1),(1,2), (3, 4),(1, 5)
(1, 2), (2, 2), (8, 3), (2, 4))
(1, 1), (2, 1), (8, 2), (4, 4))
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Input Output Which is a zero of the function
UL e YT W flx) = 2* + 3x - 42
A 4
Using the function machine from the _
diagram, what is f(10)? B 1
F 5 Cc 3
G 75 D 4
H 15
J 25

2001 2001

Which of the following tables
represents a function?
(0, -3), (2, -2), (4, "1), (6,0), ...
x|y x|y
4|2 -1 )1 These ordered pairs follow a pattern. If
A |40 c 0l o (10, y) is in this pattern, what is the
1] 2 1 value of y?
4| 4 2|4 A1l
B 2
x|y x|y
c 3
1] -2 2| -4
D 4
B | 0| 0 D |0
1| 2 2| 6
4| 3 4| 8
X Yy Which of the following is nof a graph
0 -5 of a function?
2 -3 T y
2 7 = g
4 -1 A1/ :
-4 -9 A eBEENEEAE © T
X ’ »
£ g

Using the same relationship between x
and y as the table, what is the value of
y when x is 8?

F -1

[
FEE I EE R EREE
\

“moe
SR

2000




Input Output
X — flx)=2x—5 :)—»f(x)

Using the function machine in the
diagram, what is the output when
12 is input?

A7

B 85
c 19
D 29

2000
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If flx) = ‘;x - 6, what is (12) ?

S m =

2
8
14
27

2000




